Session-2021-22
Model Test paper (Second Terminal Exams)
Class-10th

Sub : Social Science

Time : 3 hrs (M : M : 50)
Part-A
Objective Type questions
Answer the following questions (1x10)
Frerfafas wvl & sacs-
1. @t sdtenirestoT fond e § 7

h

6.

What i3 proto-Industrialisation ?

I TS S =t TATYAT /e 6 7

When was the Indian National congress established ?
fafmi sr g ?

What is manufacturing ?

ST T g ?

What are minerals ?

aveftentor 9 o= sifigra ¥ 7

What 1s Globalisation ?

ST WHIS UTET o HEATh i o 7

Who was the founder of Bahujan Samaj Party ?
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7. facelt |@raw @ oy sy e ¥ 7
What do you mean by foreign trade ?

8. USEA QAT ST T TEYE e T 3 ?

What is the motto of National Service Scheme.

9. YN WA & & W@ W Aeqdh! & A0 aaqrsiy ?
Name two Prime Communication Networks of Gov-
ernment of India.

10. Teafr St wefia &1 sifaswr s oiir famas famar 2

Who invented spinning Jenny Machine and when ?

FrefefEs uvdl & I@v s - (Ix5=15)
1. drrge ia o Fefafaa ¥ @ 1w @ g uersary ?

(@) @|frst aa (@) JHam

(77) NiEg (°) e

Which one of the following minerals is found in the
monazite sand ?

(a) o1l (b) uranium

(¢) Thorium (d) Coul

et /| i o S gt 83 0 w1 A
U] AT § ?

(=) & (@) e

(7T) 2T i (%) 1 @
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Which one of the following agencics markets steel
for the public sector plants ?

(a) HAIL (b) SAIL
(¢) TATA steel (d) MNCC

3. W S AHeh WWiTgeh UHERT T HUTET I g
() 17641 (@) 12959 (W) 1780

(=) 1791 |
Bengal Gazette a weekly magazine cdited in the year
(ayIn 1764 (b) In 1295 (¢) In 1780
(d)In 1791

4. WA A wret o qen W i mry ?

(@) =g HHrst (b) TR S
(c) Tisgpfas TR (d) ans Feran

What is the guiding philosophy of the Bharatiya Janata
Party ?
(a) Bahujan Samaj
(b) Revolutionary democracy
(¢) Integral humanism
(d) Modernity
5. UTIETT Sl oAl HEed o o

() W sl (b) Ty
(¢) 9aq it (d) =+ bt
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The main source of conventional energy is

(a) Solar energy (b) Petroleum

(¢) Tide (d) Geothermal
hIcH A R i B & wel fiems w- (1x5=5)
Match the Column A with Column B.
I g <l : A
2. BN TS T TAMGH] - w3 A g
3. i AR Sftem
4. fave =R 9 weT e - 1946
5. TIERP FHOT o O 1695
Match the Column A with Column B
I.  Rashundri Devi - Rujasthan
2. Establishment of Home Gaurd - Natural Gas
3. Mica - Aamar Jeevan
4. Establishment of the - 1946

World Trade Organization
5. Source of Conventional energy - 1995,
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:J‘i

i o S gy
( Very Short Answer type Questions)
Answer any four of the following questions.
(2x4= 8)
frefafa ® @ forgl =m vl & Iww & -
e Sredn shuit ¥ IR B gt uX Rt v & ferg et
et Treger femam)
The East India Company appointed comasthas to super-
vise weavers in India.
Why do we need to conserve mineral resotrces ?
HITET T2/ WRVT & ey W o7 3T S6d 0wl ety vyt
=
Martin Luther was in favour of print and spoke out in
praise of 1t.
A1 A Wi ST W m A 2
Which are the most vulnerable homes due 1o flood ?

STTTTHA ST T & 7 SRTEX0T SR & |

What are basic industries ? Give an example.
S T frarferal & wroferss fafaumr =31 doaremn ¥ ofic
ST wE WTHSE A3 2 7
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th

What are the conditions under which democracies
accomodate social diversities ?

g ST TV (Short Answer type Questions)
Frefetes & 4 fomdt ar uvdl & s d - (3x4=12)

Answer any four of the following questions-

. el T THTS Weh WHIN 9E] € | 39 & 97 1 ST &t

“The impact of globalisation has not been uniform.” Iix-
plain this statement.

- Torddt oft wreretifoes o1 &% o B 7

Mention the qualities of political party.

FEt 29l ST st fem weR s A s
frereno wenfua @t ¥ 2

What are the various ways in which MNCs sct up, or
control, production in other countries.
STU=T oRT ATHAT Y o T g |vasTe o0 <ftreRT =T ol
= 7

Explain the role of central govt. 1 responding to
disasters.

. g 3R sty @it o ofar AT |

Distinguish between ferrous and Non-1i11 ous minerals.
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6.

T femeTat BT TreRt Sher| % forem oy froroft fordd |

Write a short note on Erasmus’s idea of the printed book.
<t 3T 99 (Long Answer type question)

Frefafaa & & fordt wer wya =1 swc - (5% 1=15)
Answer any one of the following-

STHRER] 293 & WerRa®Y M % w0 faia § i 3TE |
The American civil war resulted in reduction of cotton
exports from India.

How do industries pollute the environment

. Ead g avg S, TR, T Ser vvewT ®7 TSN

AT S ?
How does democracy produce an accountable, respon-
sive and legitimate government.

e (Map)

(A) gTreT (Geography) (0.5x 5 = 2.5)
WIS < AT 5 29 (Show on map of India)

(a) gdit =me (Eastern Ghat)

(b) =11 3R T (Sugarcane producing stite)
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(¢) SrR-Tiv=dt <1 gerdt 29 (Two neighbouring North-West
countries)

(d) e (Nagaland)

(e) 19 741 (Brahmputra River)

(B) zfaer® (History) (0.5% 5 =12.5)
faver & At § 2917¢ ~(Show on the world map)

(a) =9 (Russia)

(b) wena werEE (Pacific ocean)

(¢) geie (England)

(d) #1%& |/ (Arabian sea)

(e) T (Germany)
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